B 128248 BE

= 1R _ %£4 1020 & )R £4 1030 & 3 R S 1040
1200m £FE 1030 1200m RFE 1040 1200m ®E 1050
BH BEE &5 = ®h HEEr BA
AT 4 A2, 5) 426 MEEBI1  |(hYu sS4 5 EXESRARRYS 471 RER 1 <5545y 3 BEgm 468 kM
A £h mERR Ala B
FATAFoIx 5 HlE 41 g _ - 2 |ARANYAZr— 6 gxpim 488 BAUR
# F 3 160 BEEURA BE
IYHIzO—F 3 EHRE 527 #w@mmRl3 (RIS 3 MEPHAERREREDE 522 XEE|3  (E-UFF—F 4 pisl 489 Exy)
E
ndLa 3 S 502 WMER|4  |[A—TS5v> 5 y—run 505 kBX|4 [FLSAH~ 3 azgm 486 KEX
-3
v 8 F—rEB 478 ZHRE|5 |F—ninzc 4 F—rEm 494 TiRM| 5 |1-r->>nv,|7— 2 pism _ 494 Tk
#®
FITITIMY 4 F—RB 453 WEEIE H-—FohAYF 3 v rEE 448 HERI6  |F—FeTFr 2 aEsm 495 /hice|
8 F Y]
7 |Fhsyy— 3 sy 452 el 7  |1Uzsiay 4 ¥—ipe 480 X%

B - - | Bxem




